(#%B)
RDERNITE

Ao

- 2
() LGB =B e

(2)

(3)

32

QRAER |22 — 4x + 2| = 1 BRI,

TOHRIZT2DDZEEL, yIZlOVWTHOTF—FTHO, Al xr, yOEOHEL TEALNT
W3, ZOEE, x, y DB S,y 2RO X,
] ® @ ©) @
x 1 3 15} 7
Y 1 4 7 2




2| (A

RDERINTE A Ko

(1) B 6k+ Dz + Bk — 2Dy +5=0 3EKEOMEIIODDETESA Z2ED, ZOHA
D ERE %R &

(2) 2 KHRR 922 — 32+ VB)x + 1 = 0 DA sing, cosd THoEE, TR DIz RD L,

(3) x OART 377 — 28-3%7 + 21-3° — 2 = 0 AT,



(#1R)

x DRE Yy A, 0 AL EL T x =sinf, y =sin20 TEIND E X, ROMWITEZ K.
EEL 0S0=5 £T5,

(1) yzxz2HWTEYL,

(2) g—g%x EMWTHYE, 27£L, 0<0< 5 &3,

o) R [ vdr 2RBE,



(#1R)

ROEBWIZEZ K.

(1) a(b+7) =25 ZiE-98%a bOHM (@, b) ZTRTRDEK,
(2) (@+b)a—0b) =25 2= %a 0O (@ b) Z2ITNTRDK,

(3) a*+5b5ab +6b2+a+ 2b =25 Zii/=9 ¥ a, bDM (@, b) ZINTRDL,




(#1R)

KEEREn=1, 2, 3, - LT, x?d2XAEERK

x? — (%)nx—Zn:O

O)ﬁz‘;;&an, bn t@"%o :@C‘:_%, ‘/ﬁ'\’@ﬁﬁ“ﬂ(’_%f{_io

(1) Si=3 (a +bp) ERDE,
(2 Up=3 (ai + i) ko,

(3) Tu=3 {anbslar + b)) ERDE.



